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Topic:- General Knowledge and Logical Knowledge

1) If SIKKIM is coded THLJJL, then how is MANIPUR coded? / df¢ SIKKIM &I THLJJL ¥ ®Ifed far

STdT 8, @t MANIPUR 1 $9 Fifsa fsar s
1. NZOHQTQ
2. NZOHQTS
3. NBOHQTQ

4, NZOJQTQ

Correct Answer :-

« NZOHQTS

2) Which of these is the largest continent in terms of area? / 8-33[ F W‘J-f i E:Iﬁ' I B9 T JTd CE TI?'I@U %?
1. Australia /&f\@%ﬂ:ﬁ

2. Asia/ Qfgl'cﬂ

3. Africa / 3UBTEBT

4. Burope /?I\ﬁt[
Correct Answer :-

e Asia/ Qig ]

3) Jamni is a river which originates in / ST :Eﬁ DT IGH RITH WT%"
1. Sagar / IR

2. Ujjain / &I

3. Rewa /Idl

4. Betul / 9

Correct Answer :-

e Sagar /IR
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4) The Governor of a State is appointed by / <l ue=T & ISuuTa BI ﬁ'ﬁ% I HId 82
1. Chief Justice / T TR
2. The Prime Minister / G T3T

3. The Vice-President / 3T Tl'gqﬁf

4. The President / Tl'gtlﬁf

Correct Answer :-

e The President / ?Tgcﬁ%f

5) The Tibetan name of which of the Mountain means ‘Goddess Mother of the World’? / fou Udd & foeadt A9

o1 31 'fay H A AT 82
1. Mount Godwin Austen / ATSE TSfa 3T&T
2. Mount Everest / HT3C Qai’E

3. Satpura / GdysI
4. Kanchenjunga / & EEE

Correct Answer :-

« Mount Everest / H3C QG%E

6) The Indore gharana well-known for singing khyals was founded by / STl TR % fore foema ?F.‘a'\" WH
F1 RUTGAT fre &1 A

1. Alladiya Khan / 3ICTIGET @
2. Ram Sahai /[H gl
3. Amir Khan / 3THR @M

4. Miyan Bakshu / wm

Correct Answer :-

o Amir Khan / 3THR M

7) The recipient of the Dadasaheb Phalke Award for 2016 is ? /a9 2016 § P GIENITEd BIeh
PR o w1 fobar e

1. Parikshit Sahni / UM AT

2. Tapan Sinha / AU gl

3. None of the Above / SIRIGd H T {5} 1—?[:%3[
4. K. Vishwanath / &. [d=a=1y
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Correct Answer :-

« K. Vishwanath / &. fa2g=y

8) Origin of river Tapti is in / arah q?ﬁ BT HA %:
1. Multai / GAdTS

2. Raisen District / I fora

3. Moorum Nalla / J¥=H [l

4. Amarkantak / 3R ch

Correct Answer :-

« Multai / JeTd1S

9) Bori Wildlife Sanctuary is in which district? / S¥1 T=goilg IRYY fFY fora # fRya 82

1. Jhabua / SITgST

2. Hoshangabad / E;IEZ.I‘ IEI[

3. Dhar/ YR

4. Rajgarh / XISl7q

Correct Answer :-

« Hoshangabad / éIQ'l‘ [diq

10) Who was popularly called as Sister Nivedita? / Reex fafear & 9 3 fod s
1. Margaret Noble / arRe Aea

2. Sarojini Naidu / TRISH! g

3. Lady Mountbatten / &S} Ardesed

4. Annic Besant / T 98¢

Correct Answer :-

« Margaret Noble / ARRE Alaa

11) Who is the Chairperson of NITI Aayog? /< AT & Sreme P 82
1. Narendra Modi / “R% HIg!

2. Arvind Panagariya / 3RIdg U-ITIRAT

3. Arvind Subramanian / 3RTdq Wﬁm
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4. Rajiv Kumar / 3roid PHR

Correct Answer :-

« Narendra Modi / =g HId!

12) Who was the first Indian to win an Oscar? / TP Sia+ 91t JYH HRA™ DI 32
1. AR Rehman /T 3[R XgHH

2. Amir Khan / MR IH

3. Satyajit Ray/ﬂ?ﬁ‘ﬂ?ﬁ

4. Bhanu Athaiya / HTJ ST

Correct Answer :-

 Bhanu Athaiya / HT 3T

13) National Defence Academy is situated at / ?'I@'q?&‘l'l' 3[PIeH! g8l fRUT &:
1. Kolkata / CANCAG

2. Mumbai / §&%
3. Pune/ T}f
4. Dehradun / W

Correct Answer :-

e Dehradun / aﬁﬂgq

14) Two dice are thrown simultaneously. The probability of getting a total of 10 or more is /T:;Pfqﬁ L' W'Jﬁ%

T Hd 10 TSP FaR 3 Bt JUTTT T F RSB

&
6
1.

Correct Answer :-

(%)



| =

15) Who is always considered to be the ancient musical genius in Gwalior? / TR T ST o1 ﬁ?{l‘['\‘lﬁﬁﬁ
= @ oI §2

1. Tansen /T‘Iﬂ@:[

2. Tulasi Das/ ﬂ?‘l@m

3. Sant Kabir / Id HAR
4. Meera Bai / HRT 9T

Correct Answer :-

e Tansen /FI'FI@?

16) Find the odd one out: / TP fqUH FTd HIfoTe:
3,7,13, 20,31, 43,57

1. 20
2.31
3.7

4.43

Correct Answer :-

17) Who wrote the famous drama like Abhigyanam Shakuntalam, Kumarasambhavam and Raghuvamsam? / e

ST A aaH, FHRTRGH Td TGIH S Ui Ares ford A2
1. Kalidasa / BTG
2. Tulidas / TG

3. Kumara Vysasa / @ HR 1Y
4. Kabir /W

Correct Answer :-

« Kalidasa / PTG

18) National Girl Child Day is observed on / T@ﬂm m CIkC IR IGI %?
1. September5/5 Rra=R
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2. November 14 / 14 [dtaX
3. March3/3 At

4. January 24 / 24 SR}

Correct Answer :-

« January 24 / 24 SHARI

19) Arun, Bashir, Charles, Dhanya, and Elaine are sitting in a row. Charles is exactly in the middle, and Bashir is at one
end and next to Arun. Who is at the other end (he/she is next to Elaine)? / 3I®UI, E'Qﬁ?, il'lF\‘:f, U qUT EﬁT-ﬁW
Ui & 93 € IT Thed A | 7, 3R I1R U SR | g 9UT 3P 916 3101 431 ¢l gk BR W P ¢ (A8
TAHI P TAH 8)?

1. Cannot be determined /ﬁﬂfﬁﬁﬁmwwg
2. Bashir/aQi N

3. Dhanya / Y4

4. Charles / et

Correct Answer :-

e Dhanya/ 4

20) Complete the series choosing the missing number: / &l I gadY et Gl T El'ﬁﬁ'l'ﬁ,’:
5,9,17,29,

1.45

2.50

3.40

4.42

Correct Answer :-

21) Complete the series choosing the missing letter/s: / &l S&R/AERT B ABR Gl ﬁw

__aaba__aa____aa
1.b,a,a,b
2.a,b,a,b
3.b,bab

4.a,3,3,b

(7)



Correct Answer :-

e 3,3,a,b

22) Complete the series choosing the missing number: / Yl JEAT GADHR YEAT BT GRT PIToIe:
2,59 14, 27

1. 19

2.20

3. 18

4.22

Correct Answer :-

23) Which country won the Men's Asian Champions Trophy Hockey tournament in 2016? / 2016 |

¥ TRMATS AfRE=T ¢iwt gio] grrae fbd 331 A Siiar?
1. China / <9

2. India / HRd

3. Pakistan / O

4. Bangladesh / SITATGRT

Correct Answer :-

e India/HRd

24) Who was the first Chief Justice of India? / YIRd & UIH YT AT Hi A?
1. Patanjali Sastri / UcisiicT [l
2. Harilal J Kania /Eﬁ?ﬂa@fm

3. M Hidayatullah / TH f3arageet
4. B K Mukherjee /ﬁ%g@ﬁﬁ

Correct Answer :-

« Harilal J Kania /E'F\’Fﬂﬁ@fw

25) Where is the headquarters of the North Eastern Railways? / Wg\?ﬁiﬁ% DI BT Pl 8?2

1. Hajipur / B]Trﬂ'ER

2. Kolkata /ﬁw
(8)



3. Jabalpur / STdcTYR
4, Gorakhpur/TﬁW

Correct Answer :-

e Gorakhpur /TnTEFR
26) “Vande Mataram” was written by / "dg RIGEE 3?% GRT feorr ar ot
1. Rabindranath Tagore / RCIE-RI RNy

2. H.N. Chattopadhyaya / Ud. Q. aélql?m:r
3. Bankim Chandra Chatterjee / Sfd® d% gedif
4. Sri Aurobindo / 4T 3Rfaal

Correct Answer :-

« Bankim Chandra Chatterjee / SfpH 9% Tesit

27) The series given below contains a sequence of nhumbers. Identify the incorrect combination: /

T € 7 g §, FEMel B TP HH UG &1 TTerd Harei Ugdniag:
1,3,7,15,31, 65

1.31

2.7

3.3

4. 65

Correct Answer :-

28) If PLUTOis coded PTULO, then how is EXIST coded? / ¢ PLUTO & PTULO S Hifed fPar wmar g,
A EXIST &1 S Sifed far SR

1. ETXSI
2. SITEX
3. STIXE

4. ESIXT

Correct Answer :-

o ESIXT



29) If VIRUSis coded WGUQX, then how is ELEMENT coded? / Tf¢ VIRUS & WGUQX T difsd fwar
ST §, I ELEMENT Y $9 SifSd fohar siamm?

1. FJHIIHA
2. FJHJJHA
3. FJHIJGA

4. FJHIJHA

Correct Answer :-

e FJHIJHA

30) Complete the series choosing the missing number: / Yo TS ITH YLl B I FIfoTg:
1,9,17,33, 73

1. 45

2.50

3.49

4. 60

Correct Answer :-

31) In a certain code language, jes nor tec means knowledge is truth, tep lec niz means never seek
violence, and dom tec kan means speak the truth, lec jes par means always seek knowledge. Which is
the word for a/ways in that code language? / Tdh @™ PIS HTHT ff, Jjes nor tec 1 3rdf knowledge is
truth; tep lec niz’®1 31 f never seek violence; dom tec kan &1 3 of speak the truth dYUT lec jes par T 3 o

always seek knowledge B1dT €1 59 B8 UIUT H always P (o€ fhd Xresg P1 STaHTS fHaT 141 82
1. tec

2. lec

3. par

4. jes

Correct Answer :-

e par

32) In a certain code language, /isten to music means listo meg sunim, come to Pune means mombo

meg pono, I like music means kono misto listo. Which is the word for sunim in that code language? /

U W BIS MINTH, Jisten to music F1 Y listo meg sunin;; come to Pune &1 3% mombo meg pono

%rtrr I like music®1 3 kono misto listo BT 81 39 IS UTHT | sunim & e {5 wreg &1 swdwma fosan
?
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1. music
2. listen
3. mombo

4. like

Correct Answer :-

o Jisten

33) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out: / 5 Uy & 31&Ri & $© W4z ey 7w
T, o A T o1 SisH? Y Tl T FHHAT UehRid #d & saie te 399 fUT 21 v fauy 3rd Sifere:

1. uwy
2. PRT
3. MNO

4. ACE

Correct Answer :-

¢ MNO

34) 103" Session of the Indian Science Congress was held in / IT§I faqm= 19 F1 1037 3
T SArAifora g ATl

1. Tirupati /ﬁRFCIﬁT
2. Mysore /ﬁ&'\’

3. Bhopal / T

4. Ranchi /Ti?ﬁ

Correct Answer :-

e Mysore /ﬂﬂj

35) 836 - 246 # 82 + 66 - 234 # 13 = 881
# is equivalent to? /

836-246#82 +66-234#13 =881

4 frad Tuger 32
1.+
2. %

3./

(11)



4. -

Correct Answer :-

36) Select the option that is true about the Statements and Conclusions given:

Statements:
Some animals are birds
All creatures are birds

Conclusions:
I. All animals are birds
I1. Some birds are creatures

/ 39 fapey &1 Ta PR SifP T T8 FU=T 3R fFrepuf & IR § I8t 2
DY:

FOUY UL &
gt oftq ueht &
G

I '\:rﬂ-ﬁ.u*{[ ueft §
I1. 9+ geft sfia &

1. only conclusion Il follows / Had [A&pY || mm%

2. only conclusion | follows / Had =pY | HWWT%

3. neither conclusion [ nor conclusion Il follows /= B fIsrt | 3R 7 &) fseef 1 WW%
4. both conclusion | and Il follows /ﬁ&?ﬁﬁf | GHT I a:h WW%

Correct Answer :-

« only conclusion Il follows / Had sy || G@WW%

37) Select the option that is true about the Statements and Conclusions given:

Statements:
Some squares are rectangles
All rectangles are parallelograms

Conclusions:
I. All parallelograms are rectangles
Il. Some parallelograms are rectangles

/ 39 fameq &1 994 Fifee wife e 7 Y=t ek fAswul & 9 & ¥gl 8:
DY
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FO T A

Tt 3maa TwiaR Tgyw &

e

1. gt IuiaR Tge omaa &

II. $ FHIGR TgH 3maa &

1. only conclusion | follows / PHad Y | GENTUTWT%

2. only conclusion Il follows / Had et i B'I_ZNTUTWT%

3. neither conclusion | nor conclusion Il follows /q@ﬁ'@?@l G?IT:[BOIﬁWGf I GHHTUTW%
4. both conclusion | and Il follows /ﬁ'ﬁb_ﬁ | GﬁT 1l Ea:ﬁ &WW%

Correct Answer :-

« only conclusion Il follows /Wﬁwﬂfll GENTUTWT%

38) Select the option that is true about the Statements and Conclusions given:

Statements:
Some worms are caterpillars
Some caterpillars are butterflies

Conclusions:
I. Some butterflies are not caterpillars
Il. Some caterpillars are worms

| 39 fapey &1 99+ I wife foT 18 $Y=T 3R Frepuf & IR d It e
DY:

O P gl ©

PO gedl fadierdi &

ﬁ'@ﬁf:

. $O foaferl gl et &

Il $ et Hiy T8l §

1. only conclusion I follows / Had FT5HY 1| STTRVI FHRT &

2. only conclusion | follows / Hd R | 3FTHRUT HAT §

3. neither conclusion | nor conclusion Il follows / 7 &1 st | 3R 71 & Fehef 11 SFTART vl §
4. both conclusion | and Il follows / TTSHH | 3R 11 G SFTARTT =l &

Correct Answer :-

« neither conclusion I nor conclusion Il follows /7 B} &R | 3R A & s G@TUTW%

(13)



Select the option that is true about the Statements and Conclusions given:

Statements:
All purses are handbags
Some handbags are backpacks

Conclusions:
I. Some purses are backpacks
II1. Backpacks which are handbags are not purses

/ 39 faey &1 99+ S Wife e 7 syt ik fAspul & 9 & 98 8:
DY

Wt = g ¥
T 9T ole ¥
ey

I.§ﬁ§;ﬂfaﬁﬁh5§
IL. St SpU® gSa e, AT T &

1. only conclusion Il follows / Had (T=pY || GENTUTWT%

2. only conclusion | follows / Had =Ry | G@TUTWT%

3. neither conclusion | nor conclusion Il follows /:rﬁrﬁwsf I GaT:f?:[ﬁ'Wﬁf I GWUTW%
4. both conclusion | and [l follows /ﬁ'ﬁ@lﬂf | SaT ] aﬁr @H\EITUTW%

Correct Answer :-

¢ neither conclusion I nor conclusion Il follows /:T_Spfﬁfml ﬁ?qsﬁﬁr@ﬁﬁ Il GH'HTUTW%

40) The series given below contains a sequence of numbers. Identify the incorrect combination: /

2 & 1€ grgen §, T@A3 BT TP HH SURRIA &1 Terd HaIelT UgDI:
32, 35, 37, 41, 44, 47

1.47

2. 44

3.37

4.35

Correct Answer :-

e 37

Topic:- Mental Ability and Mental Aptitude

1)

(14)



In the sequence shown below, which figure comes next? / ==l T3 9R1 ®a #, Il 3BT Hi IF

(15)



In the sequence shown below, which figure comes next? / Al &3 I3 &F #, eIl HThid Hid TI
FHE?

EREENE

I

|
|
|

Correct Answer :-

4.

(16)



If the following two squares shown below overlap, which one of the following options is formed? / Afg

oF & a9r Afgcaitg g & o Fra & § &l ar v Tdoeq aadr 57

|
f\
1.
N
) L)
A
" I_J
.
A
J)lf:_,
|
s

4) s 2 s 52
Simplification of | «E—i] is / «E—il B TR
‘ "\3_,’ " ”'4{3__,-'

ol

| e

(17)



-

A | 2

Correct Answer :-

5) At present a father's age is three times that of his son. 15 years hence, the father's age would be twice the age of

his son. How old is the father at present? /aﬁﬁﬁwﬁmﬁmmgﬁ%?ﬁqﬂ'—ﬂ%l Safd 3l & 15
Ul 1G, T $T 3Ty IHDh GF BT 3G B GRI-N SR | TAH H FUan i 3G o1 52

1.40
2.55
3.45

4. 60

Correct Answer :-

. 45

6) A man walks four kilometres northwards, turns to his right and walks another three kilometers. What is the
minimum distance between his starting and ending points? / Th fed IR fpaities ST ot R Iaar %,
aifeeTt 3R geax i fraier o aaar 81 3% omfi® 3k sifaw fog & Su grau g = @2

1. 3 km /3 fobefl
2. 5km /5 forHlt
3.7 km/ 7 fot
4.4 km /4 foruit

Correct Answer :-

e 5km/5 fopHt

7) Mabel bought two varieties of buns in the ratio 3 : 2 at USD 2 and 1.50 each respectively. She intends to make
25% profit. What should be the selling price per dozen? /AT A HHR: 32 3Jurd T HHT: 2 TG 1.50

AR sTaR A 2 foher o1 ura Afear @A | T8 25% AT FAH BT HGISH Q1 3 | Ui goi &1 fawa e
AT G AMRY?

1. USD 30 / 30 30! SieR
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2. USD 32/ 32 3MR®] iR
3. USD 27/ 27 3AR®! SRk
4. USD 25 /25 3MR®I SR

Correct Answer :-

.« USD 27 /27 3aRe®! SleR

8) A thief steals a car at 10 a.m. and drives it at 60 kmph. The theft is discovered at 11 a.m., and the owner sets off
in another car. At what speed should the owner runs the car to catch the thief at 12.30 p.m.? / Th TR UTd: 10 §of
TP $R IRIAT 3 3R 3 60 fHH} Ul ¢ &t ara & Tamar 8 1 T &1 udl Uid: 11 99 gadl 8, iR ATfrd Th
30 HR ¥ YA 51 ST § 1 TR B SIS F 12.30 H UHSA & [T 7S B SR {59 91d IR 9@ a1ge?

1. 70 kmph / 70 foet i gt
2. 75 kmph / 75 fobdil Ufd get
3. 80 kmph / 80 fobHil Ufd ©ieT
4. 100 kmph / 100 fodt fet geT

Correct Answer :-
« 100 kmph / 100 faoH! Ufd wieT

9) If 10 unskilled workers finish a job in 4 days, how many additional skilled workers should be hired, who are
twice efficient than unskilled workers to finish the job in 2 days. / 'Cl'% 10 3P i Th 1 BT 4 ﬁzﬁ o
T Fd &, 91 fovaq sifaiad $1a el $f S U= @1 ST A1, St AR YDl Ht ga-m 8§ S
Pt 2 e  TH 1 & oW SR[A pRa €2

1.2
2. 12
3.10

4.5

Correct Answer :-

e 5

10) A tank is 3/5 full. Pipe A can fill a tank in 10 min and Pipe B can empty it in 6 min. If both the pipes are left
open, how long will it take to empty the tank completely? / b TP 3/5 WRT gell %I ST A, 10 fiFeE b xRy
[pdT g 4T UTSY B, 6 fiFe # 39 Wrelt &= Jvdl 81 913 i1 UISY gd ge T &, A &b &) It avg | Jrelt
P § o= wHg & hm?

1. 12 min/ 12 THAC
2. 5min/5 e

3. 7min/7 B e
(19)



4. 9 min /9 e

Correct Answer :-

« 9min/9 e

11) If two numbers are greater than a third number by 35% and 55%, respectively, what is the ratio of these two

numbers? / T Gt TBATE TS T A HHRT: 35% 3R 55% TSI §, A1 37 & TBAT3HT PT 3TuTd T 82
1.9:11
2.7:11
3.11:7

4.27:31

Correct Answer :-

« 27:31

12) Mean of 60 observations is 66. Later, it was found that an observation 24 was wrongly taken as 42. What is
the corrected mean? / 60 W&TUTI ST HISH 66 3 | 9T H, T§ UTIT 74T foF Teh U&IUT 24 B Y A 42 & =u & & foran
T YT1 T AT T 52

1. 65.7
2.61.2
3.58.5

4.55

Correct Answer :-

13) A is two years older to B who is twice as old as C. If the sum of the ages of A, B and C is 27, then how old is B?

/A, BRI T TSI 8, S ¥4 C D1 3T TG 81 T A, B TUT C B AR BT AT 27 8, At B B AR FATR?
1.7
2. 10
3.9

4.8

Correct Answer :-

(20)



X takes 4 days to complete one-third of a piece of work; Y takes 3 days to complete one-sixth of the same work;
and Z takes 5 days to complete half of the work. If all the three work together for 3 days and X and Z quit, how
long will it take for Y to complete the remaining task alone? / X Ca| Udh T BT Udh ﬁm‘é HIT RT A4
A §; Y B SH BT & TP B URT B RI B A 3 T3 T & 97 2 D1 33 S1d & 318k URT 1 RT e
Asfeaam g gt i s s Hl 3 foai ae U et FRa &, R X td z e wI AP ¢ & A AW

P B RTHIA & e v Ft fava=n wag ahme?

1. 6 days / 6 f&T
2.7 days /719
3. 8.1 days /8.1 a7

4.5.1 days/5.11a9

Correct Answer :-

« 5.1days/5.17aq

15) Raju bought a buffalo for Rs. 10,000 and a cow for Rs. 7,500. He sold the buffalo at a loss of 12 % and the
cow at a gain of 20 %. Find the percentage of gain or loss? /Tﬁiﬁ Tdh q4g 10,000 IUAH 3R U ™ 7,500 IUY
T @ I W B 12% B I UR TAT TR BT 20% P AT TR ST ATH YT FT Bt Wi=Terar Jrd He2

1] un

3=9% gain / 3= 9% @87

'\-».Il Ly

2

—1| L

.{
% gain / 2= % e

£
4= 9% gain / 4= % @7

~i] L

| L

5
% gain /12 % ol
!

16) A class has 20 boys and 20 girls. The average age of girls in a class is 16 years and average age of boys in the
class in 17 years. One girl and one boy leave the class and the average age of the girls reduced by 1 year and that of
boys reduced by 2 years. Find the new average age of the whole class. / TP DET H 20 as% AT 20 Flgﬁﬂﬂ %'I
P& W ASIHUl DI ST MY 16 T TUT TSHI B SN 3 17 T4 81 TP ASHI 3R TP ATSHT HETBIS
3§ P asferal 3 S oy 1 a9 auT das®! $t 3id oMy 2 a9 $9 g 9t 8 1 T3 Fan &1 7 sfid
3TY 1A B

1. 15.5 years / 15.5 a9

2. 22 years /22 Gl
(21)



3. 10.5 years / 10.5 Ty

4. 20 years / 20 GL

Correct Answer :-

« 15.5years/ 15.5 T8

17) Hansa’s mother was 31 years old when she was born. Hansa’s father was 35 years old when her brother who
is 3 years younger to Hansa was born. Find the difference between the ages of Hansa’s parents. / Wﬁ:ﬂ 3199

Pt 2R ST IHPT o g34T1 §9T & T 35 99 & & 9 TP UTS BT o7 g3, Sl 9T A 3 99 BT gl g &b
HTa1-foar Bt 31 & S BT 3R 7T DL

1.2
2.1
3.0

4.5

Correct Answer :-

18) Due to the hike in crude oil prices, the petrol price in India rose by 10 %. Before the rise, the price was Rs.
70/litre. Mr. Khanna commutes to work every day in his car from MG Road to Electronic City, which comes to
around 1000kms per month at a mileage of 14 km/liter. Calculate how much of travelling must he reduce to nullify

the effect. / T 90 & Jod & gl b PRUT, YR & USId D PG 10% 9 ot 7 1 I A U8, I 70 3/
dtex o1 St e 3= BT P e THeh s | saeeli-e Rd) a@ g) o S eR § W €, S 14 fe
Htex & ATsas | Ui |18 TRIHRT 1000 fraiies ufa ATe wsdr 81 T0MT B3 {6 U1 &1 3/ 77H & fore
3= T § fha-l & St el

1.91 km /91 Tt
2. 100 km / 100 fpH
3. 88 km / 88 foHl

4,80 km / 80 foHT

Correct Answer :-

e 91km/91 foret

19) A mixture contains milk and water in the ratio 5 : 3. If 5 litres of milk is added to the mixture, the ratio
becomes 7 : 3. What is the quantity of milk in the new mixture? / T o T [4:) qYT UTHT BT SUId 5:3 BT gl
afe frsror & 5 sftex gor framar siman 3, &t Srgurd 7:3 g1 Siran 81 ¢ fyor & gu &) e w82

1. 20 litres / 20 WX
2. 12.5 litres / 12.5 TleX

3. 17.5 litres / 17.5 TleX
(22)



4. 15 litres / 15 Tex

Correct Answer :-
e 17.5 litres / 17.5 ¥leX

20) Milk contains 5% of water. What quantity of pure milk should be added to 8 liters of milk to reduce this to

4%? | GU T 5% TTIt BHaT T 1 T 4% P B3 & AT 8 eltex gu # e g & fpasit ar fremfht sirdt anfeee
1. 3 liters / 3 ®IcX
2. 4 liters / 4 AICX
3. 1 liters / 1 @ileX
4. 2 liters / 2 TIe

Correct Answer :-

o 2 liters /2 Tlex

21) Find the area of the sector formed by an arc that subtends an angle of 60 degree at the center of a circle of

diameter 14 cm. / T® °TY gIRT (THa &F 710 & St o 14 AR 9 9160 TP 990 & Hg W 60 T3 &1
P07 Al BT B

2
25: cn
1. 2
2
25: m
3
2.

22) Baskar is five times as old as his sister. After ten years, he would be thrice as old as what she would be then.
What is the present age of Baskar? / YR U1 981 I UK T 981 8 | < Ul aT<, fRra- 9@ g of
3TY BRI URPR B} 3T ST < T BRI URBR D1 TodH 3MTg 71 82

1. 40 years / 40 G
2. 45 years / 45 Gl

3. 50 years / 50 CL
_ (23)



4. 55 years /55 GL

Correct Answer :-
e 50 years/50 Gl

23) Twelve books were sold at a price that is equal to the cost price of a certain number of books, thereby gaining
16.66 %. The selling price of 12 books is equal to the cost price of how many books? / E'R_&'El,'\‘?la? WH\F\‘IWQ?&
TS 9 U i3 e ® qrae] 3t anTd g & SRIeR gidl 7, o 16.66% &1 ATH Sia1 81 12 T &1
o ge, framt qRae! & AT Yod & SRIR g1 82

1.6
2.24
3.18

4. 14

Correct Answer :-

24) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IBE
o0 T AR val ® I R A T va & St THF S 91 TP A8 32

David Stancey

35 Stirling Highway
Perth WA 6009

Ireland

(i) David Stancey

35 Strrling Highway
Perth WA 6009

Ireland

(i) David Stancey

35 Stirling Highway
Perth WA 6009

Ireland

(iii) David Stancey

35 Stirling Highway
Perth WA 6009

(24)



Ireland

(iv) David Stancey

35 Stirling Highway
Perth WA 6009

Ireland

4. iil

Correct Answer :-

25) Find the value of the question mark (?) in the following equation. / faa TTQTHTﬁW | )uHA ﬁFt-'
BT A A P

4024+1632+15% of 1496 = ?
1. 5860

2. 5880

3. 5860.4

4. 5880.4

Correct Answer :-
e 5880.4

26) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / J= i

TS oA ¥, ey 3R T=sil &1 vs % Hfed 81 Tea Yo uganie:
i.oiwer50012rewio

ii.oiwer50012rewio

iii.oiwer50015rewio

iv.oiwer50012rewio

(25)



Correct Answer :-

27) Find the average. / 3Na Frerferd
14,22, 38,58, 78 & 24

1. 39

2.41

3.38

4.35

Correct Answer :-

28) Present ages of X and Y are in the ratio 5 : 6 respectively. Seven years hence this ratio will become 6 : 7
respectively. What is X's present age in years? / X dUTY P I 3T PHRT: 5:6 & Surd i %I RIGKCLTC I gg
SJUTH SPHRT: 6:7 81 SITQT| X Pt T ST I § 71 82

1. 40 years / 40 Gl
2. 15 years / 15 Gl
3. 35 years / 35 Gl

4. 25 years / 25 Gl

Correct Answer :-

e 35years/35 CLj

29) What will be the last digit, when you expand 82242 / S1g 3(Tq 8224 &1 fawaR w1, Sifaw s w1 g2
1.4
2.6
3.1

4.8

Correct Answer :-

.6

30) The average stock value of three companies U, V and W is 545 billion. While the average stock value
of three companies V, X and Y is 678 billion. Stock value of company V is 477 billion. What is the
average stock value of U, V, W, X and Y? / 9 pufaar U, VAITW P 3Md WP BT A 545 fafera=
< e il i " 26) o - v ik



8| Siafep diF HUf=al v, X 94T Y & 3i9d Wid &1 A 678 [9aq §1 $UI V & TP BT HH 477
AR U, v, w, X 99T Y 9T 319 Wi ged o1 82

1. 687.5
2.611.5
3.678.5
4. 638.4

Correct Answer :-

e 6384

Topic:- Science and Simple Arithmetic

1) In a class of 60 students. if %*rd of them are boys, then the number of girls is: / 60 SEI T

T Fall &, »uTE;% 14T oISch §, dl eISiahdl ol TEdT To&ad glai:

1. 40
2.30
3.45
4.20

Correct Answer :-

- 20

1. 36
2.38
3.30

4,28

Correct Answer :-

3)  ifthe sum of a mmber andiﬂi of the number is 24, then the number is: / T T& dEar AHT 3T g

§TTT &7 AT 24 §, ar T& e §:

(27)



2.28
3.24

4. 18

Correct Answer :-

- 18

Factors of x? + 3x — 40 are: / x? + 3x — 40 & UGS foleet &
| =) and (x4 8)/ (x—5) T (x+8)
N (x+4) and (x—10) [ (x+4) dAT (x— 10)
, Gc+5)and (e~ 8)/ (x+5) TN (x—0)
. (x+5)and (x+8) / (x+5)dU (x+8)

Correct Answer :-

(x—5)and (x+ 8)/ (x—5) T (x+ 8)

1. 532
2.468
3.488
4. 486

Correct Answer :-

o 488

6)  Forthe given darta. find the average. / Tol&eT 37ihs & feorw, 3ilga @g Fife)

x, |5 15 25 35 15
7 |2 El 7 El 3

1.32
(28)



2.20
3.28
4,26

Correct Answer :-

e 26

7 . . .
) If a5 x a2 1+qa*=1, then x= AT e x a2 lra¥ =1, Al x =

1.3

8) Chromosomes are located in the: / Wgﬂ'ﬁ@ﬁﬁ%%
1. Golgi bodies / Teall BT

2. Nucleus / FTfH&

3. Vacuoles /YU

4. Plastids / ddh

Correct Answer :-

« Nucleus / ATiH®

9) Which of the following cannot be charged by Friction? / fFafafEa & & 1= a1 afor gr smafRma =t
far oI gwar 82

1. A Copper rod / TH HIRUS
2. A glass rod /W’E’I’Hﬁ’s’

3. A plastic pen / T WIRe®H HAH

4, An inflated balloon / T&h eIl 3T sSRI

Correct Answer :-

(29)



« A Copper rod /TP BIR IS

10) If twice the square root of a number is 42, then the number is: / i Th S & afhm WE{T‘JT-IT
42 8, A 98 =1 A §:

1.324
2.441
3.484

4. 289

Correct Answer :-

. 441

11) What sum invested for 1Y% years, compounded half yearly at the rate of 4% p.a., amounts to Rs.

1,32,6512 / 1% 94 & forg fa=1 &1 7S fopasit Y=Y, 4%, a1t &S &% WR 1,32,651 B SITQ, Afe
Tehqies ST SHTET SATYR TR TITAT SITT?

1. Rs. 1,00,000 / 1,00,000 ST
2. Rs. 1,24,000 / 1,24,000 TGT
3. Rs. 1,34,000 / 1,34,000 TGT

4.Rs. 1,25,000 / 1,25,000 ST

Correct Answer :-

« Rs. 1,25,000/ 1,25,000 ST

12) Most of the fossil fuels have: / fUH SHAA SYT A AT -
1. Degeneration / TR

2. Spontaneous combustion / ¥d: G-

3. Explosion/ fawpie

4. Rapid combustion / AR &g

Correct Answer :-
e Rapid combustion / TNd a8

13) If the adjacent sides of a parallelogram are in the ratio 4 : 5 having perimeter 180 cm, then its sides are: / afe

U GHITR IGHS BT =T YOITE 4:5 P ST A & 3% SHHT URATY 180 T, €, o Yore =1 &
1. 40 cm and 50 cm / 40 THT. TUT 50 T,

(30)



2. 32 cm and 40 cm / 32 T, TUT 40 T,
3. 44 cm and 55 cm / 44 . YT 55 .

4. 36 cm and 45 cm / 36 ST TUT 45 T,

Correct Answer :-

e 40 cm and 50 cm / 40 IHT. TUT 50 AT,

14) Which compound is not an acid? / @1 9T G TH 30T 81 872
1. HOl gas/HC T

2. HCl solution / HCI fa@@=

3. NH,OH solution / NH,4OH faera=1
4.NH3 gas / NH; 719

Correct Answer :-

e HCl gas/ HCI tiee]

15) A person standing on the bank of a river observes a fish inside the water. He sees the fish . /T'ITﬂa'T frr

ST AR U § U Ao JEar g sewedt_ fa:

1. At the same depth but on the right hand side of the original position / 34t TIETI% R Wl Hel g ?{l_sc AR
2. At its original position / ST ol fa o

3. Just above the original position / H¢T RIfT ¥ 3l IR

4. Just below the original position / H&l fa 9 3@ =i

Correct Answer :-

« Just above the original position / Hcl Rl ¥ Sl W

16) The area of a rhombus whose diagonals are 18 cm and 12 cm is .t /WW@{IF{ DT EAGA

g, forass fawof 18 . w12 9. 7
1. 108 sq cm / 108 i et

2. 124 sqcm/ 124 ¥ .

3.96sqcm/96 I .

4. 120 sqcm/ 120 ¥ .

Correct Answer :-

e 108sqcm/ 108 aif .
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17) If length : breadth : heightis 3 : 2 : 1, respectively, for a cuboid with volume 48 cu cm, then what will be its

lateral surface area? / 48 T JHI, ATTAT IT TTYH BT AETS : ATSTS : HATS AT 3: 2 : 18, A1 STPT UTHP
TS31T QA T B2

1. 40 sq cm /40 .
2. 60 sqcm/ 60 aif .
3. 80 sq cm / 80 o1 .

4.30 sqcm/ 30 i O,

Correct Answer :-

« 40sq cm /40 I I

18) All electrical wires used in household fittings contain a plastic covering because plastics are: /‘El?!'q

i & ygea € aral weft el & a1 IR T Wi s av 9a1 gl 8, T WIe® gid 8
1. Semi-conductors of electricity / ﬁ'gfﬂ?[% Sfefarere

2. Bad conductor of electricity /ﬁ'g{q?[%m
3. Durable / ®IT§

4. Good conductors of electricity / [dgad & JATA®

Correct Answer :-

« Bad conductor of electricity / f[dgad & GaTei®

19) Select the largest cell from the following? / IGE] # 3 Haq 3_6& HIfRBT gﬁﬁ?
1. Cheek cell / TTTcl &1 HIfRTBI

2. Nerve cell / AT BRI

3. Muscle cell / ORI HIfRanT

4. Bone cell / 31RY BT

Correct Answer :-

« Nerve cell / AT DHIeBT

20) Which one of the following is not an eukaryotic cell? / 7= & & P19 Tt Ter g Raifes ST 181 82
1. Fungi / hdd
2. Animals / Yg[

3. Plants / TI9
4. Bacteria / Gﬂa'lq

(32)



Correct Answer :-

« Bacteria/ Gﬁarq

21) Heartis madeupof ./§qd__ R ?IHT%
1. None of the above / 3‘@513‘?[ A BIS el

2. Connective tissue / TSN SHed

3. Muscular tissue / URf Sdd

4. Nervous tissue / AADT HdD

Correct Answer :-

« Muscular tissue / ORIl Sd®

22) Spot the false options about striped muscle. / U@E'R ueht & fowg o oy wyA ffta #31
1. Attached to bones / 3T I \_{Eﬂ g‘s‘

2. Voluntary / m

3. Involuntary / NEIET

4. Striated / URIGR

Correct Answer :-

« Involuntary / NI eI

23) From the given list, name the item that is not a natural resource. / T vew '\‘Eﬁ e | aX] DT Igq 2y
N UTpfae TaTeE 8l 8
1. Electricity / IESKl

2. Water / o]
3. Air/dig
4. Soil / Hal

Correct Answer :-

« Electricity / fasTail

24) The function of transporting digested food, CO5 and nitrogenous waste in the dissolved form is

performed by of the blood. / faeiia =0 ¥ uifa i, CO> ﬁ?ﬂg@ﬁﬂﬁ%
TRaed &1 $1 TR & BRI f5aT Srar g1
1. Plasma / WITGH]

(33)



2. RBC / 3R&RT

3. WBC / Secgaldl
4. Lymph [T

Correct Answer :-

e Plasma / WIIGHT

25) If the ratio of the area of two circles is 49:81, then the ratio of their circumference is: / gfe
gl & ATET BT SIUT 49:81 §, dF ST IRFY BT ergura =1 gm:

1. 49:81
2.34
3.7:9

4, 9:7

Correct Answer :-

« 79

26) If the angles of a quadrilateral are in the ratio 3:7:6:2, then the smallest angle is: / af¢ T& Tgds
P BN 3:7:6:2 F 3JUTT | &, Al TIQ BIC DIV BT AT 4= gHI:

1 50°

2. 30°

3. 40

4. 60"

Correct Answer :-

27) If the selling price of a sofa set is Rs. 9000 with discount rate of 10%, then its marked price is:

/ afe TP T e &7 fapa goT 10% e AR 9000 I g, @ 5T 3ifda geu e 8
1. Rs. 8000 / 8000 3T

2. Rs. 12,000 / 12,000 TG

3. Rs. 9,500/ 9,500 3T

4. Rs. 10,000 / 10,000 ST

Correct Answer :-

(34)



« Rs. 10,000/ 10,000 ST

28) Grooves are made in the tyres of vehicles to: / dlgd * qﬁ'iﬁ # @il &1 99T ST %, a1fb:
1. Increase the friction / ‘EFEfUT H q@e‘n

2. Remove the friction / oo BC U]

3. Equalize friction / WWW@I

4. Reduce the friction / IO SH I

Correct Answer :-

e Increase the friction / gor | q@ 83[ |

29) The source of agar medium used for culturing bacteria in the lab is: / EITﬁ"TSZ'I'IﬁTﬁTrﬂGTUJ g & ﬁl"’{
TS SAR-HATHH &1 Tl o

1. Brown alga / ’J-BT?%WIFT

2. Red alga / Tl RIaTdl

3. Blue green alga / :ﬁﬂﬂﬁﬁﬁ?ﬂ?‘f
4. Green alga / E’ﬁ?ﬂﬁ?ﬂﬂ

Correct Answer :-

e Redalga/ T Qard

30) The filament of the electric bulb is made of: / ﬁg‘q'cr dod Bl ?l_g’ e s e élal %:
1. Tungsten/é‘ &

2. Copper / didl

3. Lead/ S
4. Aluminum / TegEI=g

Correct Answer :-

e Tungsten/ CTRC

(35)



